APPLICATION TO DRILL

CONCHO OIL & GAS CORP.

ELLIOTT FEDERAL # 6
UNIT "J" SECTION 30

T18S-R30E EDDY CO. NM

9. Cezeating and Setting Depth:

1Pe and cement ¢q surfac.

40 ST&C casing. Cement
cement + 27 CaCl, + L

» circulate cement to surface.

20" Conductor Set 40" of 20" conductor
with Redi-mix.

13 3/8" Surface Set 425" of 13 3/8" 48# B~
with 400 Sx. of Class "c"
Flocele/Sx.

8 5/8" Intermediate Set 2100' of 8 5/8" 324
with 800 Sx. of Class "C"
tail in wich
+ %# Flocele/sSx.,

54" Production Set 8400' of 54" casing

J=-55 ST&C casing. Cement

Light cement + 2% CaCl
200 sx. of Class "C" cement + 2% CaCl
circulate cement to suriace.

as follows: 1300' of Si"
17# N-80 LT&C, 5900' of 54" 17# J-35 LT&C, 1000
55" 17# N-80 LT&C. Cement with 500 Sx. ¢f Class
"E" light + additives, tail in wirth 300 Sx. of
Class "E" Premium Plus zdditives. Estimaze top
of cement 1800'.

10. Pressure Cont- 1 Zcuiomenc:  Exhinie "E", A 200. Sexiss 3000 PST working pressur-e
3.0.>7. censisting of a double ra=m Cy¥Te preventor with a bag type azmnula- Pravencsor
30?7 un-t will be hydraulically operarad. Exhibic "E-1". Choke manifgld aad clesing
tais. BOP will be nippled up on 13 3/8" casing and will be operarsd a: least once
each 24 Exr. period while drilling and bliad Tazs will be operasad when cus of hele
during trips. Flow sensor, PVT, full cpexing stadbizng valve aad uoper kally cock
will be utilized. No atzer=al pressure o- temperaturs Is expecrad whila drilling.

.

« Provosed Mud Circulasing Svsrom:

Deotch Mud We. Visg, Tluid Less Tise Mud

40-425" 8.4-8.56 29-36 NC Fresh water spud aud add paser

' €0 control seepazge.

425-2100/ 10.0-10.3 29-38 NC 3rine water addé paper to coatTe
seepage and clezn hole with
high viscosity swesps

< ) - m———~T

2100-7100" 9.6-9.8 29-38 NC Cut brine add paper to cerncrol
seepage and high viscosizy
sweeps to clszn hole.

9.6~-9.8 34-38 10 cc or lass Szme as above use pclyzer oo

7100-8500"

Suificianz zu

~22t mud matesrialg
incraase raquiramenrss wi
aad run casing the Viscesizy

N
S CC sc.

crier

lower water Jloss.

, ¢
2 az all tizes. Iz cxde=- oo lecg weis
have to e raisad z=¢ The wazar loss lcwerad iz

Pe2oa ?



